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4.4b: Coordinate Systems
Questions for flipped class
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(4.4.1 solution)
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determined by B is a linear transformation from R? into R?,
this mapping must be implemented by some 2 x 2 matrix A.
Find it. [Hint: Multiplication by A should transform a vector
xinto its coordinate vector [x],,.]

25. Let B= {[_l] [_2]}. Since the coordinate mapping
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17.

18.

9.

(T/F) If x is in V and if B contains n vectors, then the B-
coordinate vector of X is in R".

(T/F) If Bis the standard basis for R", then the B-coordinate
vector of an X in R" is X itself.

(T/F) If Py is the change-of-coordinates matrix, then [x]s =
Py x,forxin V.

(T/F) The correspondence [ x ,, + x i called the coordinate.
mapping.

(T/F) The vector spaces P and R are isomorphic.

. (T/F) In some cases, a plane in R* can be isomorphic to R?.
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10. The change-of-coordinates matrix from B to the standard basis in R is
372 8

By=[b, b, b]=[-1 0 -2
4 -5 7
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11. Since P, converts x into its B-coordinate vector, we find that
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3. We calculate that
1 5 4 -1
x=3|—4|+0| 2|+(=D|-7|=|5|
3| |2 of |9
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7. The matrix [b,

bz

bl

x] row reduces to

o o =
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~1, o [x]y =| -1
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1. The matix of the ransformation will be 2, =| | 2| =|° 2|
4 9| |4 1
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